)

2 A, B, C, D, E thAl wtof] thgh F3F 314} 4281 4 2] 9]
e Zolt}, o]zt o] EEWEAE?

7

f

S A B C D E
WA(E) | 3| 2 | 0 | -1 2
© V34 @ V334 ® V364



o] 50l Birol 10 W, a + 2,b +

5709 W= a,b,c,d,e ] §

2.

ShH?

Fed = v

)

2,c+2,d+2,e+29

© 10

<A

ld

n

O

(4

o~

il

L

Eo



o
%0

il
Hlo
=

o
st

@J\ﬂ = = =
7—50_ .E.EE.—-EE
=2 O OéE

H

o

el
i~
o|J
ok
o
s

—
fife)

el
MM

om
o

o
=

1

o

o



Z=0] 430 AZ 45 A o] 80,82,86, 76 °]th. TS A|@oA &
drolok o] 84 Ho| AL}

a4
o
=

D 904 ® 9274 B 9474 @ 963 B 984



